28/06/2016 College Lecturer Exam - Botany-I

Rajasthan Public Service Commission - 2016 o
ues: 150

Paper : Botany-I Time: 3 Hours

Ques # :1

Haplontic type of alternation of generation is found in -
1) Chara

2) Ectocarpus

3) Enteromorpha

4) Ulva

TN @Talifes) THR T Y THTEROT I STl § -
D&ra

2) uadrRg H

3) GeHIGT 3

4) rear &

Ques # :2

Which of the following algae have non-flagellate coenobia ?
1) Eudorina

2) Pandorina

3) Pediastrum

4) Volvox

ffaf@a & ¥ frg dare F srweanfs dHse qRT STar 2
D) ggrmsar &

2) 9eERTST 3

3) fifgareea 7

4) arerarerd

Ques # :3

Algae that contain chlorophyll a and ¢ are commonly known as :
1) Chromophyta

2) Euglenophyta

3) Dinophyta

4) Glaucophyta

foreT darat & FARIFeT a T c TRAT AT R, 3¢ ATATTIAT FgT AT § -
D) srerger

2)§ﬁr~m‘rcmé€r

3) srarETSer

4) TereSer

Ques # 4

Which of the following is a procaryotic alga which possesses chlorophyll a and b ?
1) Noctiluca

2) Nereocystis

3) Prochloron
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4) Protoctista

fArfafaa & ¥ i a1 srdfiowdeg i dara § owd FaRPTagp oS E 2
D Frerdregent

2) SHffateea

3) QeFelieT

4) grerfeeEer

Ques # :5

Which of the following alga is a good source of bromine ?
1) Digenia

2) Gymnodinium

3) Laminaria

4) Rhodomela

T daeiAdsla o daa s AT F wE scar a2
D) srgshiferan

2) SrEEfaEH

3) e

4) Qe

Ques # :6

Formation of statospores is a characteristic feature of -
1) Chlorophyta Division

2) Chrysophyta Division

3) Phaeophyta Division

4) Pyrrophyta Division

FEEURT F1 fAATor v fAfdrse qaor g 2
D) FreiRIwrger federe &
2) FrsHISer 3T &
3) fr3Nrger fadieret &1
4) arerwrSer f3dTe #

Ques # :7

Outer layer of cell wall is made up of algin in -
1) Corallina

2) Gelidium

3) Macrocystis

4) Porphyra

PRI Ao Y aTedt TRt ofeeret 1w et & -
D) srrerrsar 7

2) nfega &

3) dApfateca

4) IR A

Ques # :8
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Which of the following genera of Rhodophyta has unicellular thallus ?
1) Chondrus

2) Corallina

3) Porphyridium

4) Rhodymenia

frafaf@a & & Mrwmer & g g A vehfRT gwT gare 2
D) Ferew

2) RIS

3) aRwERETH

4) JEfafar

Ques # 9

Total absence of flagella is the characteristic feature of :
1) Chlorophyta and Cyanophyta

2) Chrysophyta and Chlorophyta

3) Phaeophyta and Rhodophyta

4) Rhodophyta and Cyanophyta

FenfRew13it &1 ot srsma fafirse wator e -
D) FeiRIwrEer ua araavhEer i
2) SFISTBTST T FARIBISET T

Ques # :10

The most important alga used as food in Japan is -
1) Furcellaria fastiagata

2) Gleopeltis furcata

3) Microcystis aeruginosa

4) Porphyra tenera

STt H HISTeT & T H TFF Y AT arelt atftrs Ageaqor darer g -
D prefrafar sredierer

2) fFeraafecs grerer

3) Amifateey vefoEar

4) QRTET ERT

Ques # :11

Which of the following fungal group belongs to phylum - Straminopila ?
1) Ascomycota

2) Basidiomycota

3) Zygomycota

4) Oomycota

et & A FiTar Fas THE A AN FT HEET 2
D) veprAEHIer

2) sTafzaAEser

3) ST

4)
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SHTSHICT

Ques # :12

Identify a fungal genus from the following representing isomorphic alteration of generation :
1) Euallomyces

2) Coelomomyces

3) Blastocladiella

4) Monoblepharis

T / A 39 FaF U I TgAAT I FAT N vehiaor F1 yfafafeg swarg :
D guerarsia

2) dreaArAstay

3) samEIFafedem

1) Attt

Ques # :13

Which of the following fungal genera has monoplanetic zoospores ?
1) Saprolegnia

2) Albugo

3) Phytophthora

4) Albugo and Phtyophthora

foeer & @ a7 @ FaF TU A vHAT TSI BN B 2
D) qurafaerar

2) weaat

3) g

4) Toeel Td BIETURT

Ques # :14

Which of the following fungal genera is a biotroph ?
1) Peronospora

2) Puccinia

3) Erysiphe

4) All of these

e & A I G FaF gU TH AqUE E 2
D) adetrearr

2) gieaferar

3) wlrEsh

1) g7 & galr

Ques # :15

The type of association formed by Arbuscular Mycorrhizal fungi with plants is known as :
1) Mutualism

2) Obligate Symbiosis

3) Symbiosis

4) Commensalism
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WWWWWWWW#WW%,WW%-
D) ggigeritar
2) 31faercdy geaaed
3) Hgahast
4) g farar

Ques # :16

Which of the following characters of " Slime Molds " places them in fungi ?
1) Cell wall of Chitin

2) Sporulation

3) Absorptive Nutrition

4) All of these

foreT F @ FIT @ T[0T F FROT " IaGH FHAT " P FaP A @I AT 6 2
D) srsfea $r sriRienr fAfeT

2) SrSTstets

3) 37T gryor

4) o197 I el

Ques # :17

Unicellular stalked teleutospores with papillar thickening is a characteristic feature of the following rust
genera ?

1) Uromyces

2) Puccinia

3) Phragmidium
4) Ravenelia

Yol Tae wiea va FIRFT gagea Regerfian, e 7 & frw frg deor w1 ow Raw o 2
D) sRms e

2) gieaferar

3) trarafeTH

4) Wafaar

Ques # :18

The extended dikaryophase in Ascomycetes is represented by -
1) Ascogenous hyphae

2) Somatic mycelium

3) Ascus mother cell

4) Ascogenous hyphae and Ascus mother cell

TERTTE R # R e ST SRR R A
D) weastet Fae dq

2) 1l Fash ST

3) wEhd AT HRAHT

4) TERaTe Ha% diq TaH TERH AT BRI

Ques # :19
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Which of the following zoosporic fungi has nuclear cap in its zoospores ?
1) Blastocladiella emersonii
2) Apodachlya brachynema
3) Plasmodiophora brassicae
4) Phytophthora infestans

e 3 & P9 & To Ao FaF F To Aot § Feah seog a2
D) someeieraifzden vl

2) wordsear sfeferAr

3) CATCASIRNGIRT ST AT

) FIEIFURT SehEeTH

Ques # :20

Which of the following fungal genera is formed as an anaerobe in the gut of herbivorous animals ?
1) Olpidium

2) Caulochytrium

3) Neocallimastix

4) Lynomyces

fovet 3 & e Faw ger amweralt st At Y 3 F Ayl F ®F H T IATATS ?
D sitafftas

2) pielierrsieas

3) oA feesa

1) arsAEEE"

Ques # :21

The clamp-connections in Basidiomycetes are meant for :
1) Fast growth of mycelium

2) Cross communication with adjacent cell

3) Transfer of metabolites

4) Maintenance of dikaryophase in growing mycelium

NIRRT A Ferr-ausufAvaaa ¥ :

D) srae Srer &1 e i & fore

2) 38T AT & A1 I - Hale, & fow

3) uTart & TATAAROT & fow

%) gigehet FadhotTel 7 GIAhET JTaEUT Y T T & fow

Ques # :22

Dipicolinic acid is as important and major component of -
1) Endosporic gram positive bacteria

2) All gram negative bacteria

3) All gram positive bacteria

4) Actinomycetes

SIS A 3Fe TF Agca ol T W@ UeH ¢ :
D) 37er-drstroTder amer améy Sharoy

2) |3 1 37T Sfaroy

3) w3ty 31Tt Y Sfamoy
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4) ufreetTERREST

Ques # :23

The enzyme lysozyme attacks which part of the bacterial cell wall ?
1) Bonds connecting NAM & NAG Sugar

2) Penta-glycine bridge

3) Both NAM & NAG bonds and Penta-glycine bridge

4) Amino acid chain

ATSRISTSA TS STy Hifre Afed & fre smr ) amraor Fear 2
1) NAM T NAG 26T &1 Siieey arer aeT

2) Serensfae o

3) NAM @ NAG §9 U4 Yereemsfae qo gl

4) 373t 31oet e

Ques # :24

Cyanobacteria are known to possess which of the following pigment molecules different from normal
chlorophyll ?

1) Pheophytin
2) Phycobilins
3) Xantophylls
4) All of these

ARAFERAT & AEATT FARIer @ e fmr & F Fla @ avis sy qre sma g 2
D) fpanersies

2) wrafafa=g

3) S=afhed

Y sAn el

Ques # :25

Archaea are different from other bacteria in which of the following characters ?
1) Size and shape

2) Flagellar function

3) Membrane structure

4) Prokaryotic nature

forsr 3 @ her & 9701t 3 3Fa g ShaTo W et 2
D) #7719 vg 3R

2) FanfHhT FRY

3) Bree GyTeT

4 R R

Ques # :26

The baculoviruses that are used as biocontrol agents act against :
1) Nematodes

2) Fungi

3) Insects

4) bacteria
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Azt g da e F T A s A an S €, s Reg s A €
Sk
2) g
3) e
4) SﬂEITUI

Ques # :27

Phylogenetic studies on Phytoplasma based on 16 SrRNA gene sequencing indicate their closest relationship
with :

1) Spiroplasma
2) Mycoplasma
3) Acholeplasma
4) Rickettsia

BISEICATSAT 9T 16 STRNA ST 3707 TR IfAge EAAT ST Aot iahar FeFaet qitar g

D) soreticarear @
2) ATSHICATTHT &
3) uRfacarsar
4 Rpefaary

Ques # :28

Which of the following diseases is not caused by viroids ?
1) Potato Spindle Tuber

2) Banana Bouncy Top

3) Citrus Exocortis

4) Coconut Cadang-Cadang

A A A FaT I WraEs A Ad Qg 2
D) dréer fedse gqer

2) SeATeTT ST e

3) facH veraeReH

4) 2y . .
hlehlddC hsSd[-chSd]

Ques # :29

Viroids are known by the following characters :

1) Circular , Single Stranded , 250-370 nucleotide long RNA
2) Circular , Double Stranded , 460-625 nucleotide long RNA
3) Helical , Single Stranded , 246-380 nucleotide long RNA
4) Circular , Double Stranded , 246-380 nucleotide long RNA

ITERTEE 3T 01T & GIRT A AT Y :

1) dol , Tehel Toofeh , 250-370 Y fFIICTSS ofedl 3. Tet. T.
2) Tl , 5f3 Toal , 460 -625 FFAANCISS T H. TA. T.

3) eI, ToheT Toaleh , 246-380 FYFIACTSS o 37, TeA. T.
) aer, & Tool , 246-380 FYfFANTISS o H. T, T.

Ques # :30
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The classification of bacteria based on phylogenetic studies uses 16 SrRNA sequence because -
1) It contains about 1500 nucleotides

2) Sequencing is easy

3) isolation of other RNAs is difficult

4) None of These

sfage e Sfiaropsit & aeffertor 7 16 SrRNA 3T T g3 g ¢ F4ifer :
D) g3t aramsrer 1500 =g fFererss g1 &

2) 3TeIshHUTST 3THTET BT §
3) 31 RNAs T facmaret ARl g &
) gt IS A&

Ques # :31

The movement protein produced during replication of TMV has a molecular weight of :
1) 126 K

2) 183 K

3) 17.6 K

4) 30K

oA A & yfasIor & et Iea arel) et N &7 HToTfas IR 2 -

1) 126 K
2) 183K
3)17.6 K
4)30K

Ques # :32

Which of the following bacteria has an extra plasma-membrane outside the cell wall ?
1) Agrobacterium

2) Clostridium

3) Staphylococcus

4) Bacillus

fover F @ Fler @ Shamopat & Fifdw Afca F st v sfaied care Bedf gt g 2
D) woesdias

2) Fafecisga

3) EEIeRIRE

1) e

Ques # :33

Systematic acquired Resistance (SAR ) in plants against pathogens can be induced by :
1) Salicylic acid

2) Benzothiazole

3) Isonicotinic Acid

4) All of these

' e AR® rTaraE YRTH ' (SAR) Y qreyl A Moo & f3vg INT 7@ rar ST asFar 2 -
D) afoamsias s

2) Sestrarrsiter

3) smEaaeifeee 3

D sAa T el
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Ques # :34

Which of the following are parasitic flowering plants ?
1) Cuscuta

2) Orobanche

3) Striga

4) All of these

forest & @ Fler § qodir arew WSl @ 2
D) sreaper

) R

3) Fgrgam

4) gomr & @sh

Ques # :35

The apple scab disease is caused by -
1) Xanthomonas citri

2) Venturia inaequalis

3) Colletotrichum falcatum

4) Curvularia prasadii

T Tohe UIT ST BT § -
D) Sraaere e
2) deaiaT sAvFafod

)
3) Vs N

hITICICISHhH HlelhcH

4) denfia swreTs

Ques # :36

Black-wart disease of potato is caused by -
1) Synchtrium endobioticum

2) Olpidium solanacearum

3) Agrobacterium tumefaciens

4) Protomyces macrosporus

AT FT' sl ¢ " AT SHA FhaT g 2
D) Rrsieas wwemaifesa

2) sitarfafEes AreTaeRa

3) TFARTH g RTa

4) grrATs e ARy

Ques # :37

In which of the following smut diseases a columella is present in the infected region ?
1) Loose smut of wheat

2) Grain smut of Jowar

3) Smut of Bajra

4) Covered smut of Barley

T 7 & 719 ¥ F3 QT & T AT i F FregAar sARIT A R 2

10/43



28/06/2016 College Lecturer Exam - Botany-I
1) 37g &1 eorer &8
2) SR &1 I F5
3) SToRT &1 &S
4) it T 3T

Ques # :38

The 'Tundu ' disease of wheat is caused by -
1) Anguina triticia and Corynebacterium tritici
2) Anguina tritici

3) Anguina tritici and Erwinia dissolvens

4) Globodera tritici

g #1' gog ' AT e q@RT EIeT R 2

D) weaze fefewms va weeadias fears
2) weagan RRefears

3) wrrgan fefears v Rfafqan fFaeasa

4) Ty fefears

Ques # :39

The cyst nemotide belongs to which of the following genera ?
1) Meloidogyne

2) Anguina

3) Heterodera

4) Xiphinema

A EFR A A A PlT Far F @y @arg ?
D Frefggiomeey

2) T

3) e

MASIRTIE|

Ques # :40

Which of the following metabolites is known to play an important role in defense against pathogenesis ?
1) Victorin

2) Phenolics

3) Proteins

4) Auxins

forer 7 @ Sl suTTey Morsrarer & faeg wfawan & Agcaqet sifder & faw Srer srar g 2
D faeafs

2) frliforerd

3) iié=a

4) mereed

Ques # 41

Match the following sets and identify the correct pair - A) T.S. Sadasivan a) Role of fusaric acid in wilt of
cotton B) H. C. Arya b) Cycle of wheat rust in the plains of India C) P. Millardet c) Axenic culture of
sclerospora graminicola D) K. C. Mehta d) Discovery of Bordeaux mixture
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1) Aa
2) Ba
3) Cec
4) Dd

fower gaeaal w1 AT R va TE A F 9gA1AT - A) O.0H. FEIAGT a) FIARF 35l HT
FUTH Y FATT F HFAFT B) TI.H. AT b) 7R & AT garht # g F g F1 9% ©) . fArard o)

FHRITIRT ATAARIET FT HRTTF-AeT Taelar D) F. 6. Agar d) &t fFsror hr @er
1) Aa

2) Ba
3) Cc
4) Dd
Ques # :42

The " Great Bengal Famine " in 1943 was the result of which of the following :
1) Bunt of wheat caused by Telletia

2) Helmithosporium blight of rice

3) Blast of rice caused by Pyricularia

4) Late blight of potato caused by Phytophthora

¥ 1943 FT " GV FT AGTHIA " fAFT H ¥ fFT 16T A3 FHT AT AT 2
Uﬁzﬁfﬂmaﬁaiﬁgww

2) erret 1 gfer=aeRTe 3iarardy

3) Riftgafar sifaa e &1 seme

4) BIETFIRT ST 3Tl T TS JTARY

Ques # :43

The type of symptoms produced by Pythium is -
1) Damping off of seedlings

2) Early blight

3) Anthracnose

4) Leaf-spots

R gaRT 58 YFR & F&T0T 3T 81 & -
D smégaa

2) 379l 3eTARY

3) egrargoT

4) gedY erear

Ques # :44

Match the following sets and identify the correct pair - A) Downy Mildew a) Meloidogyne incognita B)
Powdery Mildew b) Sclerospora graminicola C) Tikka Disease c¢) Cercospora arachidicola D) Root Knot d)
Alternaria Solani

1) Ab
2) Bd
3) Ca
4) Dec

fovet wopgt 1 Aw Ao 3R 7E 7o F wgwifavw - A) s13A sy a1 Affe anfdar a)
AN sehifderer B) Ir3sd fAersy ar givter mfAdr b) FFaieaRT Affefiwtar €) feamr ot
¢) HHIEIRT TWIASIRIAT D) &€ 1€ d) 3o AT AldT1s
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1) Ab
2) Bd
3) Ca
4) Dc
Ques # :45

Match the following sets and identify the correct pair - A) Phaseollin a) Cucumber B) Glyceollin b) Pepper C)
Rishitin ¢) Capparis D) Capsidiol d) Potato

1) Ab

2) Bb

3) Cd

4) Dd

foFT Fogeal 1 A FSA Ta FE Z7A FT T@AAT - A) FAMNTAT 2) FFoR B) TamsfAsinfaaT
b) ¥uT C) R o) FIRT D) Fieafzaiter d) Mrder

1) Ab
2) Bb
3) Cd
4) Dd
Ques # :46

During rainy season a farmer notices golden brown exudates from the ear-heads of Bajra crop in field. The
possible reason for this could be onset of -

1) Rotting Disease
2) Green-ear Disease
3) Ergot Disease

4) Smut Disease

qT e A T FRETeT o W 7 TR A GHer F Aot o Feae Y 1 F o -w=a & | 3
THTTAT FROT SHHT IR & T g

D) aretet e

2) &R arelr e

3) srefe qeT

4) 33 Jar

Ques # :47

' Grassy shoot of sugarcane ' is caused by which of the following phytopathogens ?
1) Mycoplasma

2) Viroid

3) Phytoplasma

4) Spiroplasma

' TR <[ AT ot ' vt F & R Ier AeToY & FHROT v § 2
D) Aréenrcetrean

?) arsrss

3) wrgeIeaTSHT

) FEICeITS AT

Ques # 48

Pathogenesis related proteins are those macromolecules which are known to induce -
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1) Resistance in plants

2) antifungal and antimicrobial activity in plants
3) Toxicity towards plants

4) Phenolic production in plants

AeTSTeTeT FFE A W 3t Toav] & S 38 IR & v et sirelt -
1) qredt & wferies

2) et #F feaT T e G

3) qregt & gfey 3masTear

4) qreat 7 Rreiter 3careeT

Ques # :49

jacket of neck of archegonium in Marchantiales, Jungermanniales and Calobryales consists of :
1)4, 5 and 6 cells
2) 5,4 and 6 cells
3) 6, 5 and 4 cells
4)6,4 and 5 cells

AT fRTed, SIRATATEH TUT FalaRew H Tt AT w1 e frda FRFTFT I 8T E 2
D4 sgemRemmta
2) 5,49 6 ARSI
3) 6, 5T 4 HIRAFT A
D6, 4T5FRASBTT

Ques # :50

Basal elaterphore present in the capsule of Pellia develops from -
1) Elater mother cells

2) Sterile sporogenous cells

3) Fertile sporogenous cells

4) Amphithecium

m*m(capsule)ﬁmmmm% | I8 RFfRATaare -
D) gerex Airg AR &

2) §e AATUTST HIRAFA &

3) et UL HIAHTHT &

4) sRfeafRm @

Ques # :51

Non -columellate species of Notothylas is -
1) Notothylas indica

2) Notothylas orbicularis

3) Notothylas leveri

4) All species of Notothylas

A=y f TarafRda afa d -
D) ferersera sfeer

2) Arerurged Jifdpaa
3)aﬁaa1sﬂ¢rfaﬁ;¢|g

4) Arerersers i we s
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Ques # :52

Air-gun mechanism of spore dispersal is present in :
1) Sphagnum

2) Funaria

3) Frullania

4) Pogonatum

mmﬂaﬁAir-gunmﬁ'mﬁmﬁﬁFﬁ%?
D e &
2 g &
3)@1%@3%
4) gt

Ques # :53

Which one of the following pteridophytes is zerophytic ?
1) Azolla

2) Salvinia

3) Marsilea

4) Equisetum arvense

far 7 ¥ Flaar eNEwEe ARlgdy arRfrfeF & 2
D) wairer

2) grediferar

3) anféferar

1) gerdifes andea

Ques # :54

Arthur J. Eames ( 1936) classified Tracheohyta into four groups on the basis of :
1) Vascular Anatomy

2) Position of Sporangia

3) nature and relation of leaf and stem

4) All of these

3T 3. §79 (1936 ) A THFAwIser it IR WHE! F fFad 3R W geffea a2
1) gags 3raies a<ae

2) dramorenferat Hr feafa

3)rr0‘raaﬁaﬁrq§ﬁra‘mmm

4) g7 & galr

Ques # :55

Which one the following is extinct genus of Sphenopsida ?
1) Calamites

2) Annularia

3) Equisetum

4) Calamites and Annularia

foreer & & ey TSt F7 AT (extinet) FaE 2
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) dremsiea

2) wegafan

3) safif@eH

4) Frermsfen T Tegaiar
Ques # :56

Select the correct pair :

1) Plectostele - Lycopodium serratum
2) actinostele - L. clavatum

3) Mixed Protostele - L. cernum

4) amphiphloic siphonstcle - Selaginella

e ZIA T 94 P

D) afeer o7 - TSR R
2) 3101 T3 - ofT. FordeH

3) TR o1 {87 - . TAH

) IHAFATTH AT 187 - AT

Ques # :57

Prismatic tissue is found in which of the following genera of Pteridophyta :
1) Selaginella

2) Isoetes

3) Marsilea

4) Ophioglossum

ETwEe & AT # § Fia A g F ReaARes Fcas T I g 2
D) fgrafererem

2) arsarsfes

3) ardiferar

4 NfRAeaH

Ques # :58

Match List I (Types of Stele) and List II (Names of Genera) and find the correct answer with the help of codes
given below : List I (Types of Stele) LIST II(Genera) A) Protostele (i) Marattia B) Siphonostate (ii) Selaginella
C) Dictyostele (iii) Equisetum D) Polycyclic (iv) Pteris

1)A-ii,B-iii,C-iv, D -1

2)A-iii, B-ii, C-iv, D -1

3H)A-iv,B-iii,C-ii, D -1

4)YA-i,B-ii, C-1iii, D -iv

RO 1 (87 & YR ) T AR 11 (FA F 17 ) F gAfoa M qur = e 1w Fe fragrmar

HEY 3cd¥ T Td T : RO | (T & THR ) RO 11 (T ) A) NEIEENT (i) AIFAT B)
AFHARA (i) RAfaar C) Baealwd« (iii) s#d e D) N Fas iv) 2Ra

1) A -ii, B - iii, C - iv, D - i
2) A -iii, B-ii, C-iv, D -1
3)A-iv, B-iii, C-ii, D -1
4) A -1i,B-ii, C -iii, D - iv

Ques # :59
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The living members of which family are often called ' living fossils ' ?
1) Osmundaceae
2) Ophioglossaceae
3) Marattiaceae
4) Marsileaceae

et goor & ST e 9T * S SfvaTest 3 7T @ A ST 2
D) sfrae=ser

2) Ry

3) Ayfeuh

4) Frdfforear

Ques # :60

Laminar hypthesis for the morphological nature of Marsilea sponcarp was supported by -
1) Campbell

2) Bower

3) Eames

4) All of these

AT iferar i Hemorw i Hr rFRArT g5 ia & faw qoiwes a1 AfAaR aRFewen F g 4 2
D srqaer

2) gt

3) Srm

4) goTor & welr

Ques # :61

Stelar theory was proposed by -
1) Zimmerman

2) Van Tieghem and Douliot

3) Eames

4) Foster and Gifford

T RIgia &1 9& a1 fFraa fo 2
D oedaa

2) aret fooe A 3R sifere &

3) Srmay

) pieeT 3R AwE &

Ques # :62

The correct sequence of the elementary processes of Telome theory is -
1) Overtopping , Planation , Syngenesis and Reduction

2) Overtopping , Planation , Syngenesis , Reduction and Curvation

3) Planation , Syngenesis and Reduction

4) Syngenesis , Reduction and Curvation

da Rigia A yafas RS sTad sA ¢ -
D) sitaRerfier, wacelet , Tgstels 3R =0T
2) TR, THTT , TESTelel , 7gA1H0T T Tohed

3) FHT , TEstelel AT =TT
4)
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HgoTelel , 7gai1eh0T 3N dohed

Ques # :63

Microspores in Cycas, Pinus, and Ephedra are released from microsporangium at -
1) 4,3 and 5 celled stage
2) 3,4 and 5 celled stage
3)4,5 and 3 celled stage
4) 5,4 and 3 celled stage

WERH , TEAH 3 hIg & TgNY) eSO ¥ FaeT a1 § -
D 4,33 5 IR saear &
2) 3,49 5 PP 3raear &
3) 4,59 3 PRSI raEar &
4) 5,49 3 HIRAP 3rae2ar

Ques # :64

According to Articles 29 - 31 of International code of Botanical Nomenclature , effective publication of new
names requires -

1) The printed material is made available to the public through its publication in a Journal
2) The name of author and the rank must be given

3) The name must be accompanied with a full or at least a diagnostic description in Latin
4) The name must have proper form for its rank

HeATSET FATT(cIoh ATHRIOT HigelT & HeTede 29-31 F HFTAR AT ATHT & TSI TehTRI &
T+ ¢ & -

D) fareit Sreter 3 srepTeret e AR T Y SToT-HTEROT &Y 3Tt T ST

2) @ T ATH JUT AT ATH &l U HTGeTH §T F &A1 1

3) AT & WY, IUT 370aT FH § FHH HET A&T0T F ofeet 7 AGTTHry auie 3maeas &9 § far s
4) FATH & Y 1 37T T ( i) HETF &7 F &7

Ques # :65

Which among the following is the largest and oldest Botanic Garden in South East Asia ?
1) Lloyd Botanic Garden , Darjeeling , India

2) Indian Botanic Garden , Howrah , India

3) Royal Botanic Garden , Peradeniya, Sri Lanka

4) National Botanical Garden , Mirpur, Dhaka, Bangladesh

farafaf@a & & gfaror g vk #1 ae@ 7371 TYT Fa@ RWEAT TAEfas 35 ST q1e 2
1) ditgs SYerfere amssT , arfeifeier, R

2) sfege Sierfae e, grasT, AR

3) et Serfas ST, R, sheie

4) ereTer AeTfereet MST , F , THT, FTAEA

Ques # :66

In the flora of Rajasthan , the family having maximum number of genera and species is -
1) Asterceae Family

2) Cyperaceae Family

3) Leguminoceae Family
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4) Poaceae Family

TSTEATS & FeAEafciara A 0N qoT Sfaal 1 gaifts gear aren Fo & -
D e gt

Ques # :67

When no original type material is available and a specimen collected from type locality is chosen to serve as
type, it is called

1) Isotype
2) lectotype
3) Neotype

4) Topotype

ST 1 $f FeT TET FHIA ST AL &Y TUT I AT § FAT WIS T T, T & I
fran STt &, 7€ FEeare -

D smrsditersy

2) deersy

3) frersy

4) rdterza

Ques # :68

Which date is taken for purposes of rule of priority ( Article 11 of ICBN) as the starting point for
spermatophytes ?

1) 1-5-1753

2) 1-5-1853

3) 1-1-1908

4) 1-1-1935

TaHereseH (@ urgwh) # wrafdswar #1 s G ddl.oe. & 3e7edT 1) N an]F § FieT
Y feeTran arter fg & w9 & ygard AT AT 8 2

1) 1-5-1753

2) 1-5-1853

3) 1-1-1908

4) 1-1-1935

Ques # :69

Match List I and List II and select the correct answer with the help of codes given below : List I (Theory)
LIST II(Proposer) a) Bennittitalean Ancestry (i) Engler & Prantl b) Gnetalian Ancestry (ii) Long c)
Conferalean Ancestry (iii) Saporta & Marion d) Pteridospermean Ancestry (iv) Wettstein Codes :

D) (@) (i), (b) (i) , (¢ ) (iii) , (d) (iv)
2) (a) (i) , (b) (iii) , (¢ ) (iv) , (d) (1)
3) (a) (iii) , (b) (iv) , (¢ ) (D) , (d) (iD)
4) (@) (iv) , (b) (1) , (¢ ) (i) , (d) (iiD)

At 1L T A 11 R GATT P e Fel & i forw are et 1 39T Y §U HET Il H
T FFAY : G 1 (RGT) LIST 1(TEATEF) a) SAICSeiarde aemmae (i) $7e g Weed b)
Aot Femae (i) 1T ) FIIBATTT Femael (jii) TN T ARAT d) TRDFTFATT Fanael (iv)
maﬂg:
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1) (a) (i) , (b) (iD) , (¢ ) (iii) , (d) (iv)
2) (a) (ii) , (b) (iii) , (¢ ) (iv) , (d) (1)
3) (a) (i) , (b) (iv) , (¢) (i) , (d) (i)
4 (a) (iv) , (b) (0) , (¢ ) (i1} , (d) (iii)

Ques # :70

Which among the following groups of genera have unisexual flowers ?
1) Ecballium , Triticum and Bridelia

2) Gymnema , Tylophora and Manihot

3) Lagenaria , Benincasa and Mallotus

4) Stapelia , Ceropegia and Tragia

i@ gor wagh 7 & fFe wog & vefdeft a8 2
D) serarforges , Refeesa qur fesfeorar

2) TITEAT, STEATHRT g2 AfAgT

3) aforaRar , sfetererar aur Aded

4) gediforar, SRS aur R

Ques # :71

Which of the following families is characterised by its leaves distinguishable into a sheath and blade ?
1) Asclepiadaceae

2) Cucurbitaceae

3) Euphorbiaceae

4) Poaceae

frrafaf@a wat § &, quit w1 3mees va waw 7 gease g, fFa Fa i Aftreary 2
D trafFafds

2) gafaeHr

3) i

4) oo

Ques # :72

Match List I with List IT and select the correct answer using the codes given below the lists : List I (Family)
List IT (Order) (a) Asclepiadaceae (i) Gentianales (b) Cucurbitaceae (ii) Passiflorales (c) Euphorbiaceae (iii)
Rosales (d) Leguminosae (iv) Unisexualales

D) (a) (), (b) (iD) , (¢ ) (iv) , (d) (iiD)
2) (a) (i) , (b) (iii) , (¢ ) (D) , (d) (iv)
3) (a) (iiD) , (b) (iv) , (¢ ) (i1) , (d) (D)
4) (a) (iv) , (b) (1) , (¢ ) (iii) , (d) (iD)

T 1 g 11 Y gAfd R Tor g & A e 1w et 1 39309 FId T T Sea] H
Tg P - T 1 (Fen) FET 11 @10T) 37) WFARASH (i) SIAfAded ) FHaeHT (i)
TR @) BT (jii) Ated §) IRAAH (iv) TAdFgeed

D@ @), @ i), @) (v) . @) (i)

2) @3 Gi), @ (i), (@) (), @) (iv)

3) @31 (i), @ (v) . @) (i), @) ()

Y @D V), @ @), @) (i), @) (i)

Ques # :73
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Consider the following statements : (i) Drawback of Hutchinson's system of classification is that it is based on
habit of plants. (ii) Takhtajan's system of angiosperm classification is not in accordance with rules and
regulations of International Code of Botanical Nomenclature . (iii) Engler and Prantl have regarded
Amentiferae as an advanced group. Which of the above statement/s is/are correct ?

1) (i) Only

2) (ii) Only

3) (i) and (iii)

4) (ii) and (iii)

frafaf@a wy«t w A fIf : (i) s garr & o srqadifora & gefteor wgfa @t
37T (FHY) T§ § Y I§ IGTA IGT TIHTT R AR § | (i) TSaroret gan & 1§ angadfarat &
el TR HARTSET AT AT ATHST 15 & AT vq st & sregea 78t § 1 (i) $7oR
UG Yleed o TATCIHIT Y YT WHE AT ¢ | STNFA A I FleT /A FAA AT 872 2

D () saer

2) (ii) aer

3) (i) 9 (iii)

4) (i) 7 (iii)

Ques # :74

Number of fertile stamens and stamonodes in Tamarindus indicus is -
1) 3 and 4 respectively
2) 4 and 3 respectively
3) 3 and 7 respectively
4) 7 and 3 respectively

CARTZw SRBFW H Terevater THEY va FE7 TH HT HEAT Il ¢ -
D) 3 34 saer:
2) 4.9 3 HHA:
3) 397 HHA:
4) 79 3 HAM:

Ques # :75

Which of the following possesses monodelpous stamens and apocarphous gynoecium ?
1) Calendula

2) Calotropis

3) Croton

4) Cucumis

frafaf@a A &, veue gHaT va e 3rosdt ST, e & are e § 2
1) dpeege

2) Fererfra

3) et

4)1@@@

Ques # :76

Consider the following statements : (i) Capitulum is a racemose type of inflorescence . (ii) Axile placentation is
found in Asclepiadaceae. (iii) Cyathium type of inflorescence is found in all the members of Euphorbiaceae .
Which of the above statement/s is/are correct ?

1) (i) Only
2) (ii) Only
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3) (i) and (iii)
4) (i) and (iii)
farafaf@a Fyal w R HIFS : () Aus® IrdlAmeT YR T wha gar e | (i) WiFafasd &
AT AT 3rafir AASosare 9T JATeT § (i) TP & woft wewat F wrafdaw vER #
qeUEHH AT SATAT & | SINFA FUAT A § FieT /A FAT TT 870 ?
D (i) shaer
2) (i) aot
3) ()4 (ii)
4 (i) F (iii)

Ques # :77

A plant name , in which the specific name exactly repeats the generic name is known as :
1) Autonym

2) Basionym

3) Homonym

4) Tautonym

TS UTEY ATH TSR ST ATH 94T 997 ATH U AT 81, S Fgd & -
D) sitarfara

2) sfasnfas

3 T

1) dafeH

Ques # :78

Who used the word Magnoliopsida for dicotyledones ?
1) Bentham & Hooker

2) Engler & Prantl

3) Hutchinson

4) Takhtajan

gfaeierafat & faw Avaifaaiftast areg w1 39aer fraa fra 2
1)E\F‘m¢a'§w?r

2) TR g Ueea

3) g

) qEareteT o

Ques # :79

Roots with a dermatocalyptrogen is a common feature of the members of -
1) Cyperaceae Family

2) Liliaceae Family

3) Poaceae Family

4) Solanaceae Family

caamNTSTe (GHFTACEISIe) JFd Hol T WIHT F&TOT 3 -
D) argtrdt et & wewt &

2) fafordrel Fo & wewdt &

3) AR Tt & HeEdt
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4) Frererel oot 3wt

Ques # :80

The Tunica-corpus theory was given by -
1) Hanstein (1870)

2) Schmidt (1924)

3) Johnson (1951)

4) Guttenberg (1960)

egfaT-Hraw Rgre fm ara o -
D) §a&eT (1870) g@rr

2) T&HE (1924) E@RT

3) SlaAT=T (1951) E@RT

4) aresTaaT (1960) GRT

Ques # :81

In majority of dicotyledons , the number of Tunica layers is :
1) Two

2) Six

3) Eight

4) Ten

iftremier gfseTa R & cgfae wat A FEar g ¥ -
D &

2) [N
3 3me
4) rox: |
Ques # :82

Which of the monocot families possess stipulate leaves ?
1) Amaryllidaceae and Alismataceae

2) Cyperaceae and Poaceae

3) Hydrocharitaceae and Butomaceae

4) Palmae and Liliaceae

RrrterTlre ol qooil 3 & et i o1 g oot g & 2
D wariforsed va vfagarerd

2) Frz9% vg grey

3) grogeRed Td e

4) rey Te faforde

Ques # :83

Example of primitive nature of angiospermic flowers are :
1) Drimys and Wintera

2) Lilium and Crocus

3) Passiflora and Parkinsonia

4) Vitex and Vitis
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IS #F I yHfer & gt & 3GEROTE :
) Rfe od RmesT
2) fafergs v e
3) QTNFART T IR T
4) argeera ve fafea

Ques # :84

Conduplicately folded leaf like carpels are found in :
1) Cucurbita

2) Cuscuta

3) Derris

4) Drimys

FHAATT YHR @ 73,907 qeed 3T e A § -
D) srepfeer &

2);:43?&9%

3) sRE#

1) AT d

Ques # :85

Angiosperm originated during :
1) Carboneferous period

2) Cretaceous period

3) Jurassic period

4) Triassic period

HTcasiIal T Seafed g9 :
D) srrafeimtheg e &

2) fpe Ry et &

3) ST Frel 7

4) Tl rer ¥

Ques # :86

Which of the following groups of families are characterized by the occurrence of laminar stamens ?
1) Caryophyllaceae , Degenariaceae and Tiliaceae

2) Nymphaeaceae, Austrobaileyaceae and Degenariaceae

3) Papaveraceae, Brassicaceae and Austrobaileyaceae

4) Ranunculaceae , Papaveraceae and Nymphaeaceae

frrafaf@a & @, aot werdhrr GaaY &1 arar 9irert , fnw For gt #1 fAaflseary 2
D) SR, RieaRad gur e

2) RFEAREY | veea o aur AR

3) ey, T aur teee e

4) YT ore, et T R

Ques # :87

Which of the following is an example of primitive angiospermic flower ?
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1) Polygonum
2) Tripogon
3) Urochloa
4) Wintera

frafaf@a 3 ¥ e sgadiei 757 #1 sggRor FiT AT g 2
D) gyerenaa

2) grédrane

3) TRyt

MACCa

Ques # :88

Distal part of apical meristem of roots is -
1) lateral in position

2) Sub lateral in position

3) Terminal in position

4) Sub -Terminal in position

Helt 7 ey fsrsalas T qqey Her g e ?
D) qred feufa &

2) 3q.q7ed FRufa &

3) starey Ul

4) 3. 37aey fRufa &

Ques # :89

Match List I (Scientist) with List I (discoveries) and select the correct answer with the help of code given
below : List I ( Scientist ) List II (Discoveries) A) Cameraius (1694) (i) Pollen Tube B) Amici (1830) (ii) Male
and female sex organ C) Strasburger (1884) (iii) Syngamy D) Nawaschin ( 1898) (iv) Double Fertilisation

1) A -i, B -ii, C-iii, D - iv
2) A -ii, B-1i, C-iii, D - iv
3) A -iii, B-i, C-ii, D - iv
4) A - iv, B -iii, C - ii, D - i

Rl 1 (dfas) FY Rl 11 (@9 F ara gafaa ffod qur = R e we Hr ggraar @ @@
Fcd¥ FT 9T S : RO 1 (A ) IRof 11 @S A) FAIAH (1694) (i) 9T AToT B)
HTATF (1830) (i) 7T T ATCT FTART C) TSI T (1884) (iii) TIIAT D) AT ( 1898) (iv) &
ICLECH

1)A-i,B-ii, C-iii, D - iv

2)A-ii,B-i,C-iii, D -iv

3) A -iii, B-i, C-ii, D - iv

4) A -iv, B -iii, C-ii, D -1

Ques # :90

Only one microsporangium per anther is found in -
1) Moringa

2) China-Rose

3) Mustard

4) Arceuthobium

UF IETHIY (anther) H Fael U g1 TLAISITOTETSAT 9T$ STl ¢ -
1)
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ATGETH
2) g 7
3) aeat &
4) IS

Ques # 91

Tapetum arises from sporogenons tissue in -
1) Triticale spp

2) Antirrhinum majus

3) Alecina thomsonii

4) Typha

AU S § 29 e & seaeaT @il & -
1) fefrirer sforat o

2) UieeReTH Asra 7

3) uf A= NegTS 7

4) ez

Ques # :92

Compound pollen grains are found in
1) Drosera

2) Drimys

3) In Drosera and Drimys both

4) Calotrophis

Qe R TeT FHoT I T § -
1) remr

2) Safir

3) grrr 7 AT et

4) Frelerg &

Ques # :93

TTC (2,3,5 Triphenyltetrazolium chloride) is used to test viability of pollen grains . Why the viable pollen
grains turn red ?

1) TTC is red colored.

2) Reduction of the TTC to red dye formazan
3) Oxidation of the TTC to red dye formazan
4) Pollen grain wall is stained with TTC

YRIITHOIT T STeAeT &THAT (viability) T 9I8T0T F3a1 & fAT TTC (2,3,5 efhasacesifaas
FARTSS) HTH H AT AT & | STTeTefier NIRRT T FAT T AT & 2

D TTC e Wrargrang

2) TTC T 3T oITel LT & g0Th BIFASATT H &l S

3) TTC T HTeFERIUT olTeT 13T & quieh BIFSIT & 81 Sy &

4) qararenT fAfed TTC @ T Y Sl &

Ques # :94

26/43



28/06/2016 College Lecturer Exam - Botany-I
Pollen Tube wall at the cap block region is very rich in -
1) Pectin
2) Cellulose
3) Callose
4) Pectin and Cellulose

RTsIforeT Y @us &7 a1 9 &7 #H Afca Frhr e axh & -
D ofgea &

2) Jogera #

3) Frelrar &

4) afFea 3R dogeira A

Ques # 95

Commercial castor-oil is obtained from which part of castor bean ?
1) Cotyledons

2) Endosperm

3) Seed Coat

4) Embryo

IS 310 e, 3V & i & Fid F AT F Yo gaT g 2
D Seaar g

2) yoTay I

3 AT haa @

4) sor @

Ques # :96

Liver mechanism of entomophilous pollination is found in -
1) Salvia

2) Yucca

3) Rafflesia

4) Nyctanthes

mﬁ'ﬁﬂm(mver Mechanism) {amwmwam%-
D) enfeaara

Z)Wﬁ

3) Wrfeaar &

4 PereE &

Ques # :97

Cleavage polyembrony arising during seed development is known as -
1) Orchids

2) Santalaceae

3) Vanda

4) Poa alpina

151 fasra & @ Rgee sgsgoran fha & wg STt & 2
D sfifhea &

2) Jeeore A

3)
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desTH
4) Q3T TeuTSAT

Ques # :98

Aril the third integument found in nutmeg arises from -
1) Funiculus

2) Testa

3) Funiculus and Testa both

4) Microphylar portion

el St fERT 3TEATERT § ST A R ScueT gl aT ¥ 2
) e

) eEe

3) qgﬁ?ﬁﬂ gereraar

4) famUs IR AT @

Ques # :99

Parthenocarphy found in tomato and capsicum is -
1) Genetic

2) Environmental

3) Chemically Induced

4) Genetic and Chemically Induced

eATeR T At & g i1t aren e waaT § -
) s

2) gatareig

3) rarafeE 3R

4) 3TTeTaifRIe @ TarfAE 3R

Ques # :100

Select the correct pair :

1) Smallest flower - Rafflesia

2) Largest Flower - Wolffia microscopica

3) Carpel without style - Drimys

4) Carpels are borne apparently terminal - All families

e ZIA T 94 P

D) e oer 7 - IFataar

2) e T3 59 - TowHaT ATSHIERITIRT
3) fe=tr afclenr & 3789 - R3faw

4) ferger 31 ey Seaeet 375 - Welt Foolt o

Ques # :101

On the basis of distribution of gases , the atmosphere has zonation in one of the following orders :
1) Troposphere , Mesosphere, Stratosphere, lonosphere and Exosphere

2) Mesosphere, Stratosphere, Troposphere , lonosphere and Exosphere

3) Ionosphere , Stratosphere , Mesosphere, Troposphere , and Exosphere

4) Troposphere ,Stratosphere, Mesosphere, lonosphere and Exosphere
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It & RO & IR W, agHsa A Tl e A A vwE A ¢
1) aftar Hzer , 7eT Fedr, TRUX A, 3T Al Ud dfedzd

2) 7Eg Heel, [T HS 1,419 HSoT , 37T HSol Ud a1 sol

3) 3T Fgel , FEUN HSol , HEY HSol, &1 HSol , Ud aigaigel

4) afeT HeoT FEUR HSol, HET HS o, 37T HSol Ud S soT

Ques # :102

Which one is the correct zenation of vegetation from equator to pole of the earth ?

1) Tropical rainforest, Desert and grassland, Deciduous forest, conifer and Moss and Lichen
2) Desert and grassland, Moss and Lichen, Tropical rainforest, conifer and deciduous forest
3) Deciduous forest, tropical rainforest, grassland and desert, conifer and Moss and Lichen
4) Moss and Lichen, Tropical rainforest, deciduous forest, grassland and desert and conifers

gl 9T $TET W1 F T TF I AT aTe) TAEafed T HEF TAQRI0T FATE ?
1) 3507 Hfeeetr a1, ASEU TF O1H, JUTITAT T, I U ATH U oS
2) ST U9 U1, H“mu—q'arrg%r, Tropical rainforest, P TF JOTITAY T
3) quTqTeT g7, 30T Shieaetr aef, U Ud AGEY, HIThT Ud AT Ud ollSahe]
4) HATE UF TTSheT, ISUT HieT= T, JOTIT I, T T FIEU TS HIATHT

Ques # :103

In temperate climate, the leaf litter which falls from the tree is degraded very slowly and the basic compounds
present on the upper surface are transported to deeper layer of soil due to rain . With the result the upper
layer of soil becomes acidic in nature. The formation of this upper layer of soil is called :

1) Melanization
2) laterization
3) Podsolization
4) Gleization

offer Srerary # gait & A g afeaat (Frex) #1 sraaea sga sl aifer & €ar § vd awt & Srer garr
398 wae 9X Feure &t were g X a1 7 A i 3T vanfaa 8 e & | aRonETasy e
39 HAE 3ol 8 AT § | F&T F 58 3T W & AATT F FFTACME

D) frafaesor

2) ey

3) QrsreaRoT

4) Tersrere

Ques # :104

The vegetation having pneumatophores , prop roots, viviparous type of seed germination and stem with thick
cuticle are characteristics of :

1) Xerophytes

2) Mangroves

3) Succulent Xerophytes
4) Epiphytes

Tt Foras AqFRIBR , A7 H , Wil i AISTH0T UF et 9T AN FgEFe 81, T§ oTaTor
g
D) #eefig &
2) Heaa &
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3) AT AFCAE &
4) RIeY &

Ques # :105

In India tropical humid evergreen forests are found in :
1) Eastern Ghats and Western Himalayas

2) Western Ghats and Andman groups of Islands

3) Central India and Bengal

4) Indogangetic Plain and Indus River

HRA H TSHIATE VGG a1 ITT AT 3 :
1) qdf a1e wa af¥as fearers 7

2) af¥g# g1 vd 3iEA @i Tog A

3) ALY R U FaTer

4) R & I T HeToT T e 7 Heret &

Ques # :106

Savannal biomes are characterized by :

1) Xerophyte plants and the rainfall is less than 10 inch

2) Small coniferous trees and the rainfall is 10-20 inch per year

3) Grassland with scattered tress and the rainfall is 40-60 inches per year
4) Dense forest and the rainfall is 80-100 inches per year

HaTeTT a1 & fAfdrse aa1or §:

1) A€l gy va avt ufday 10 ST & A
2)@%%@%11?@;&?@"@9@3&10-203?

3) ar & AT #F frey §u gaT va awt iy 40 - 60 §9
4) oo Si9Ter U Hidas ast 80 - 100 S

Ques # :107

The tree which is considered most important for survival of man in desert of Rajasthan :
1) Acacia senegal

2) Calligonum polygonnides

3) Capparis decidua

4) Prosopis cineraria

TSEYTT & ATEYS H AT & SHfast & frT qa@ Agcaqor THAT A1 aralr Ja7 3 -
D) oo ferar doterer

2) St diferen=rafsa

3) &afa sefgam

4) grere e

Ques # :108

plant species which are genotypically distinct, interfertile and occur in distinct habitat are called :
1) Ecad

2) Ecotype

3) Ecoline

4) Coenospecies
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9Teq Ffaar st e godt f3farse &, 3ra: gereerar & 31 RAfArse ey & 9 1T § 98 FEAar g

D) 53 (aftan)

2) garersd (ARTET)
3) gerarg

4) Freredreist

Ques # :109

In a population , the organisms which are left after the death of organisms are called survivors. If a group is
plotted between number of survivors and their age (% life span) , then different shapes are formed. But if most
of the members of living population complete their normal biotic potential and their death occurs with old age,
in such living population the survivor graph will be of shape :

1) Concave
2) Convex
3) Sigmoid
4) Diagonal

forelt wfdrse # 7 Sfal & a1 a9 gU Shal 1 SeaRsiid Fe1 siar ¢ | e e afase & seazeid
$T HEAT TYUT 3HH IY & AT I 141 ATC A A 31 & 999 ¥ | o IR wefig wiAse
& ITAHTA HGEFT ITAT A AfAw f3sra qut #3a ¢ va 3ahr g qeraear A gt ¢ | o &
Foitq @fdrse &1 cavshdl as g -

Ques # :110

On the basis of Growth forms the cryptophytes are characterized as :

1) The perennating buds or structure of the plants are protected below the soil
2) The perennating buds or structures are above the ground up to 25 cm.

3) In such plants, perenating buds or structure are not present

4) The perennating buds oOr structures are more than 30 cm above the ground

g 9T & TR 9T fFeeihIsey & waor e -
l)mﬁrﬁwﬁW¢T&w5memJaﬁH$FﬁﬁWT@?ﬁ%

2) gty $r RRamTrar Sioed a1 EXaATT FH & 25 AfH. % Fa18 W ord &
3) goT greut #F RINERITOIAT ShictehTd AT EXTTT 18T &ldT

4) o7 grerat #F RRERITrdT HirehTd AT TTATE STl & 30 Yoy TR gl &

Ques # :111

If one wants to study the structure and stratification of plant community , which method will be most suitable :
1) Plot less Method

2) Chart Method

3) Count Method

4) Transect Method

IfE FI$ IIET FAGTT & FIAT UG FAAFOT HT IHETTT FIT 910 Al Hafead fafer Hir @ g :

D) g efea fafr
2)
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dTfelehT FAT3C
3) FruTeT FaTSE
4) e A

Ques # :112

Select the one which shows correct sequence of stages in plant succession

1) Alga and Crustose lichen stage , Foliose lichen stage, Herbaceous Stage, Moss Stage, Shrub Stage and Tree
2) Foliose lichen stage, Moss Stage , Crustose lichen stage , Shrub Stage , Herbaceous Stage and Tree

3) Crustose lichen stage , Foliose lichen stage, Moss Stage , Herbaceous Stage, Shrub Stage and Tree

4) Alga and Crustose lichen stage , Foliose lichen stage, Herbaceous Stage, Moss Stage, Shrub Stage and Tree

UTeYd HTHACT H WE A H g 1w v o Hr giav

D) SYarer vd qdeY eigehet 3raedT, 9fTer oTgahet 3TaaT, Q0T 37aET, AT TET, &7 HIEAT Td JaT
2) aftTer elTgaheT AT, AIF HGEAT, TUL clTgehet TGEUT , &7 HTEAT, AT ITEAT UF gaT

3) qEY ST IHITAT , TTOTET TS e ITTT, FAIH AT , QAMeh IAEAT, 4] 3TEAT U JaT

4) QaTer Ud qIEY STSdheT IAEAT, ITOTET FATSheT IAEUT, QAT HATAT, AIH AT, &7 3TEAT UF JaT

Ques # :113

Pyramid of biomass of pond and forest ecosystem is :
1) Straight in both

2) Straight and inverted, respectively

3) Inverted and straight , respectively

4) Inverted in both

aTeTe v g & IR a7 &1 dasR RufAs gar g -
1) gyt # drerr

2) sraer: WieT a 3ol

3) SARr: Soer ud drer

4) &t & 3eer

Ques # :114

In a food chain , the amount of energy received by secondary consumer from primary consumer is -
1) 0.1 %
2) 01 %
3) 10%
4) 50 %

TF G H@eT 7 , ST susiiadr gart rafie susiiaar @ RvawsarhraE= g :
1) 0.1 %
2) 01 %
3) 10 %
4) 50 %

Ques # :115

Mycorrhiza helps in mobilization of one of the minerals from soil to the plant is :
1) Copper

2) Sulphur Only

3) Nitrogen Only

4) Phosphorus
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Faeh H GaRT H&T W TG d frd! T 1 arferefierer gar e, 98 8 -

D sz
2) gowT el
3) TSNS dhael

4) BIEPRH

Ques # :116

Match List | (Green house Gases) and List Il (% Contribution
fo total global warming) and find the correct answer with the

help of codes given below:

List | ( Green House gases)

List Il (Contribution)

A COo,
B CHy,
C CFCs
D N2O

K 20 %
L 60 %
M 6 %
N 14 %

) A(K),B(@L),CM),DN)
2)  A(K),BM),C (L), DN)
3)  A@),B(K),CN),DM)
4 AM),B(L),C(K),DN)

wRol | (e g3 ) 3R FRON 1| (el Teligerariaar 3
fderd deer) &t gafed SIfed dur @ Qe aw &e
T GEIdr ¥ "l A & =8 it

areft | (3 e ) ARt 11 (T@EEr)
A CO, K 20 %
b CHa L 60 %
C CFCs M 6 %
D N,O N 14 %

D A(K),B(L),CM),D(N)
2)  A(K),BM),C(L),D(N)
3)  A(L),B(K),CMN),DM)
4 AM),B(L),CK),DN)

Ques # :117

Which of the following is called super green house gas/gases -

1) CFCs ( Chloro Fluro Carbon )

2) HCFs (Hydro Chloro Fluro Carbon )
3) HFCs ( Non chlorinated hydro Fluro Carbon )

4) CO» (Carbon dioxide)

P daslr v faeswidad?

D) CFCs ( aFeRIooRY 1t )

2) HCFs (gT33! FRIFeRY e )

3) HFCs ( Tt FeRI=ICS ETSgITeRY &IeeT )

4) CO, (FIeeT 515 3TFATSS)

Ques # :118

According to Mace and Lande (1991) an endangered species -
1) Has 20 % probability of extinction within 20 years or 10 generations

2) Has 50 % or more probability of extinction within 5 years
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3) Has 10 % probability of extinction within 100 years
4) Has 20 % probability of extinction within 5 years or 2 generations

A T A3 (1991) F HTHR HHTTool ST TE 8 :

1) 20 af ar 10 et 7 20 % Rrefeddr H FFTEATE |
2) s auf & 50 % feroTeeTlT &l HFHATET § |

3) 100 asf 3 10 % fae[edT Hr GFHTGAT & |

4) 5 aif a7 2 et #F 20 9% e[edar A FFATEATE |

Ques # :119

Which plant species in particular indicate burnt and highly distributed coniferous forests ?
1) Cassia obtusifolia

2) Pteridium spp

3) Quercus marilandica

4) Amaranthus spp

o & & i HY TreT STfer RrAIwT & STelt §¥ 3R a0 T & IFdacHEd PR O Tl
AT Fr Rl ¥ 2

1) 3R sifrgRrmeT

2) efxfegA $r afaar

3) Fgeng ANATEH

4) 3" S Arfaar

Ques # :120

According to the report of Ministry of environment and Forest (2012) the number of National Parks and wild
life sanctuaries in Rajasthan are respectively :

1) 5 and 23
2) 5 and 25
3) 5 and 35
4) Sand 15

YATEOT UF FeT HATET T 2012 AT ROIE & TR TSEATT H FAU: T Irahf AR Fogsig
HIIRUYT T TEAT § -

D 5wa23

2) 5ud 25

3) sud3s

Ys5udi1s

Ques # :121

The only breeding place for flamingoes in India is :
1) Gangetic Plain

2) Marine coasts

3) Deccan peninsula

4) Desert

AR A F TR IT FHTGRN T ToToled T Ueh AT T ¢ :
D) starr 7 HereT
Ve
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3) efgroh grereda
4) AT (YA

Ques # :122

Minimata epidemic was caused by methyl mercury. Methyl mercury penetrates in children through :
1) Blood

2) Placenta

3) Genitals

4) Water

fAeiiaTar #eAr) fAramse A3 & FROTES oY | aoar # AR A Tar FdaTe -
D W garr
2) coRiwel ZaR]

3) FAIN @R
4) qTet garT

Ques # :123

Which Ministry of Govt. Of India is assigned the responsibility for carrying out Environmental impact
Assessment (EIA) of developmental projects :

1) Ministry of HRD

2) Ministry of Environment and Forest
3) Ministry of Defence

4) Ministry of Law

R a3 & gATEroiy yama fAUROT (E1A) FT 3caieiRicd IRd SIFR & T A9 o1
hararar g 2

1) #Ateta GEmRIe A6 (MHRD) &7

2) qTeROT UG G HATSIT Y

3) 38T HATAT Y

4) fafer I srefet #ATer g Y

Ques # :124

Loudness is also expressed in sones . One sone equals the loudness of :
1) 80 db, at 1000 hz

2) 40 db, at 1000 hz

3) 100 db, at 1000 hz

4) 20 db, at 1000 hz

egfay aoldT &) sones & T H 3 3rfAcgaa fFAT ATAT ] | TF AT (sone) fFTF SET &A1 ?
1) 80 db, 1000 hz 9T

2) 40 db, 1000 hz T

3) 100 db, 1000 hz 9T

4) 20 db, 1000 hz T

Ques # :125

Troposphericor bad ozone (Os) Is formed by —

1) Reaction of certain pollutants (SO,, NO, and aldehydes)
on absorption of UV radiations.
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2) Reaction of certain pollutants like 50, and NO- in troposphere.

3) Reaction of certain pollutants like SO, and NO5 in stratosphere.

4) Reaction of certain pollutants like CO5 i, troposphere.

QRIS a1 g8 S (03) e HfEfEar & aed § -
1) & faRad gguar (SO, , NO, d ulfesgssd) aant

UV faferort & 3aeivor 3930d gl drelr Efear &
2) ZEFHRR 7 S0,,NO, o Hfaa wewe! it srfafkear &
3) TR # S0,.,NO, o fARTd wguan! & wfEfnar &
4) TeaRmaY A Aad ggus, CO, &1 Hfafear &

Ques # :126

IUCN (the International Union for Conservation of Nature and Natural Resources) in 2012 recognized how
many Red List categories of species ?

1) 4
2) 5
3) 9
4) 10

TUCN (7l @ Wiepforeh GRTY=T & HIETOT T HecRIseI Haree) aF 2012 H Sfaar Sy el arer
aﬁﬁfﬁw’f (Red List Categories) &Y AT T TGTeT Y ?

1) 4

2) 5

3) 9

4) 10
Ques # :127

The chief constituent of photochemical smog in metropolitan areas is :
1) N5Q (Nitrous Oxide)

2) NO (Nitric Oxide)

3) NOs (Nitrogen dioxide)

4) NH3 (Ammonia)

HETTINT &1 3 1T AT §H FIgt F AT UH ¢
1) N2O (FTScH 3iTaess)
2) NO (wIsTee 3adss)

3) NOy (FTseisid 315 3Taarss)
4) NHy (31a1faam)

Ques # :128

The Environment (protection) Act , was promulgated in :
1) 27 May, 1986

2) 5 June,1986

3) 23 May, 1986

4) 16 May,1981

YATERT (H&TT) TFe Fd AR (A1) g3 T ?
1) 27 78,1986
2) 5 57,1986
3) 23 7E,1986
4) 16 AS,1981
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Ques # :129

The two main characteristics of a hotspot are :

1) The area must contain 0.5 % of world's 3,00,000 species and should have lost 70 % or more of its primary
vegetation

2) The area must contain 5 % of world's 3,00,000 species and should have lost 50 % or more of its primary
vegetation

3) The area must contain 0.5 % of world's 3,00,000 species and should have lost 50 % or more of its primary
vegetation

4) The area must contain 15 % of world's 3,00,000 species and should have lost 70 % or more of its primary
vegetation

UF o T (hot spot) F & FET TaT0T ¢ -

D) 39 &= # fa2d 91 3,00,000 ST & & 0.5 % St $r sufeufa aur g &7 & srufds gaedfa
I 70 % T 31T8reh T fae[ec 8T et

2) 3g 83 7 faeg $1 3,00,000 SATIAT F & 5 % st Hr 3ufeafy aur =@ &7 Hr wrafds gaeafa
I 50 % T 31fereh T fae[ec 8T et

3) 3g &3 & 23 1 3,00,000 FTAAT & F 0.5 % AT FHr 3ufeATY g2 =7 &7 H yrafAs gaeafa
T 50 % T 31T T Tae[cd g1 STietl

4) 37 &7 # f32d #1 3,00,000 ST F & 15 % st $r sufeafy gur sq &7 & wraffds gaeafa
I 70 % AT 31T T fae[ed &1 ST

Ques # :130

Consider the following statements : (a) Fatty oils consists of glycerin in combination with a fatty acid (b) Fats
generally contains oleic acid ( ¢) Arachis hypogia seed oil is non-drying oil Which of the above statement/s
is/are correct ?

1) (a) Only
2) (b) Only
3)(a)and (c)
4) (b) and (¢ )

i@ Fyai W AR Ao ) v da Faalia s s adlig sra F aaea d T gd g
) FEI3HT F AT NfoF e T ST § W) Nivw gsaforar & diet F1 ad srrehr grar e
SRFT A FIT ATV FIT AT /8 2

D (31 Faa

2) @) Faa

dEna@E)

Y@a@)

Ques # :131

The oil content of the improved varieties of soybean is -
1)5t08%

2) 11 to 14 %

3)19t022 %

4)27 to 30 %

FRITeteT FY Ieoicd Al A AT T AT EIAT & 2
Dsasgoy

D114

319822 %
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D 2730 %

Ques # :132

Which of the following is the first sugar to be manufactured by the plants ?
1) Fructose
2) Glucose
3) Maltose
4) Sucrose

frafaf@a # @ wia @ o, argut garr wdvyw Afda frard § 2
D sarerat
2) TSt
3) AreeST
Y g

Ques # :133

Which of the following is an old world plant cultivated over 4000 years ?
1) Peanut

2) Potato

3) Tea

4) Tobacco

farafaf@a & ¥ Sl & arew At urhier e (3es 7e3) H 4000 T A FRF T A FR AT E
g

1) w

2) 31

3) T

4) g

Ques # :134

Which of the plants are the natives of South eastern Asia ?
1) Cotton and Guava

2) Tomato

3) Red pepper and Peanut

4) Rice and Sugarcane

Frfatera # & #1 & e afRvor et o 3 eaTe & 7
1) srare e 3

2) 3ATe] AT TATEX

3) qret FAT 2T Harehel

4) STl T o]

Ques # :135

Consider the following statements : (a) Jagannath, Jamuna and Jaya are the high yielding Indian varieties of
Rice. (b) Safed lerma , Lerma Rojo and choti Lerma are the high yielding wheat varieties of India. (c ) NP 4,

NP 52 and NP 125 are the high yielding Indian varities of Bajra. Which among the above statement(s) is/are

correct ?

1) (a) Only
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2) (¢ )Only
3) (a) and (b)
4) (b) and (c)

farafafaa Fuat W =R RS : 3n) SEreery, ST T°T S Arad $ 38w 39 3o areh
AT Rt & @) W T, AT U 4T B AT g 1 3rfirw 3ut 3 arel ey Rt §
) Tt 4, T Y. 52 YT T b 125 ST Y 31w 39T 3ot arel) fFEA § SRFT A G Fla ad
FIFT AIe/8 ?

D @30 &aa

2) (@) Faa

M@Ena@)

D@a@)

Ques # :136

Which of the following has the maximum amount of protein in its grains ?
1) Barley

2) Maize

3) Rice

4) Wheat

T d d FaF e A AT A waRF AT g 2
1) =t

2) HaepT

k) Jn—

4);}@

Ques # :137

Match List I with List II and select the correct answer using the codes given below : List I ( Pulses) List I1
(Botanical Names) (a) Black gram (i) Vigna aconitifolia (b) Cow Pea (ii) Vigna mungo (¢ ) Green Gram (iii)
Vigna radiata (d) Moth (iv) Vigna unguiculata

1) (a) (i), (b) (ii1) , (¢ ) (ii) , (d) (iv)
2) (a) (i) , (b) (iv) , (¢ ) (iii) , (d) (1)
3) (a) (i) , (b) (0) , (¢ ) (i) , (d) (i)
4) (a) (iv) , (b) (i) , (¢ ) () , (d) (iiD)

T 1t el 11 gATerd R ur ghat & A e T et F1 39909 I g FE Secl
T B - G 1 (Fen) TR 1T @10T) (31) 35€ (i) Taeat wnrAifesifarT (@) waen Gi) faeam 77 @)
Har (iii) e ¥3Aer @) WS (iv) Fvan safagerer

D@0 ), @ i) , @) (i) , @) (iv)

2) @ (i), @) (v) , (@) (i) , @) ()

3) @31 (i), @ (), (@) (v) , @ (i)

B @D ), @ (i), (@) (), @) (i)

Ques # :138

Match List I with List IT and select the correct answer using the codes given below : List I ( Medicinal Plants)
List I1 (Parts Used) (a) Atropa belladona (i) Bark (b) Cinchona officinalis (ii) Leaves (c ) Ehedra gerardiana
(iii) Roots (d) Rauvolfia serpentina (iv) Stem

1) (a) (iv) , (b) (iii) , (¢ ) (ii) , (d) (1)

2) (a) (iii) , (b) (i1) , (¢ ) (1) , (d) (iv)

3) (a) (i) , (b) (1), (¢ ) (iv) , (d) (iii)
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4) (a) (1) , (b) (iv) , (c) (iiD) , (d) (iD)

T 1 T TR 11 gATerd RS T e F A e T et F1 399 I g AL S
Tt P - T 1 (3refir smmom) =t 11 (TG 119m) (31) TRT (i) BTl (@) Rtantan sfveafos
(i) afeaar (@) g oRRfEaiw (i) el (@) T3ANTewar TXAwer= (iv) d=

D @31 (v, @ (i) , (&) (i), @) (i)

2) (37 (iii) . (@) (ii) . @) (), @) (iv)

3) @) (i), @ (), (@) (), @) (iii)

Y @0 (), @ Gv), @) (i) , @) (i)

Ques # :139

Alkaloid scolomine is obtained from -
1) Atropa belladona

2) papaver somniferum

3) Rauvolfia serpentina

4) Withania somnifera

THIANTHIT HehTIgs YIod [FAT ATar g 2
D varar segem @

2) YeR BIATAREH A

3) zaifewar axtersaT &

) fanfarar ST &

Ques # :140

Which one of the following is a correct statement ?

1) Coftee plant is native of England.

2) Coffee was brought to India by the East India Company

3) Karnataka, Kerala and Tamil nadu are the three major coffee producing stated of India
4) Coftee plant is a member of family Leguminosae

fef@ad s saaslaarg ?

D) i g gools o Hearr &

2) Rt & hithY ST ST AT G@RT oS Iy oY

3) FeiTea, e qUT AfHT HRA & il JHE 3cesH T3 §
4)ﬁﬁwﬁﬂﬁﬂ’m‘r?ﬁ HIACET ¢

Ques # :141

Consider the following statements : (a) India is the largest tea producing country in the world. (b) In congue
grade of tea , the smallest leaf is used (c ) The grade of tea depends on the age of the leaves. Which of the
above statement(s) is/are correct ?

1) (a) Only
2) (b) Only
3)(a)and (c)
4) (b) and (¢ )

frrafaf@a Fua W R fSR : 31 aRa g # waifts 9 3cares g g @) 9 i Fieg Aoft
o WA BIET el TFF Y ST § /) T Y I[0Taea HT ATl (Fa3) $qh gfeadl A 397 w1 fasiy
HIATE

D @ Faa
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2) @) Faa
M Ena@)
H@a@)

Ques # :142

Pseudo-embryo-sac is found in :
1) Cruciferae

2) Capparidaceae

3) Podostemaceae

4) Poaceae

MS{WWW%
1)§¢hﬂv—€ra§r

2) ufedr

3) drgredae &

4 qrodr #

Ques # :143

Freeze fracture electron microscopy allows visualization of -
1) Surface Structures

2) Cell Organelles

3) Interior of Cell membrane

4) All of these

WhIeT-iheFeY Selereter garraedt & 41 ST ST HHATE 2
D) geérr wegeme

2) FfRrareT

3) TRIeAT Breelr & 3feaar

) s weh

Ques # :144

The resolving power of a light microscope depends upon which of the following factors ?
1) Wavelength of the light used

2) Numerical aperture

3) Refractive Index

4) All of these

UF WA FaAa Ft fstee arar e 3§ @ fret R R st g 2
1) 3uaiier #F forw 910 wenrer &1 aier e

2) GEATcHS SaReH

3) g

4 s A

Ques # :145

The glutaraldehyde used during transmission electron microscopy is meant for -
1) Dehydration of tissues

2) Fixation of protein molecules

3) Softening of tissues
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4) Stabilization of lipid bi-layer

URATHT gelFereT garraelt F F1 & A I a1 TeResIeres fhas fFA grar g 2
1) St &1 fAsreeor

2) 9réreT 3TOT3T AT YT

3) ScTehl T FHGoldd

4) fafrs gfa-3raTa & Tanflica & faw

Ques # :146

The confocal electron microscopy enables :
1) Collection of 3 D data

2) Optical Sectioning

3) Better depth resolution

4) All of these

PIAPIFC FAFCIT FETFaA T HHT ¢ -
1) 3D 31iehet 7 ol

2) geprelr aR=aest

3) JgcR TGS ek faNeT

4) gorar & T

Ques # :147

In spectophotometry the absorbance of a colored solution is dependent upon -
1) Concentration only

2) path length only

3) Both Concentration and path length

4) None of These

TIFeH YHIAATT H U Wil faeraeT &1 3raenvis A war g -
D) Sraer @igar

2) hael 9Y AFSTS

3) St Tigar vd oY TS

) s A S TG

Ques # :148

Enzyme-linked Immunosorbent Assay was developed by -
1) Engvall and perlmann in 1971

2) Engvall and Richardson in 1971

3) Richardson in 1978

4) Voller, Bartlett and Bidwell in 1978

TS H-faFs sFgedee ¥ fFae i fma 2
1) vevarer vd weideT 1971 &

2) uedarer Ug g der 1971 7

3) RErdEsT 1978 7

4) greR, STédie va fasda o 1978 7

Ques # :149
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Electrophoresis is a technique by which one can separate which of the following?
1) Proteins

2) Proteins and DNA

3) DNA

4) Proteins , DNA and Isozymes

45 FUT A Ig dFelF § T F1$ ot e A F s I AFATE -
D oréea

2) 918 U9 A.TAT.

AT

1) 9réed , E1.U.T. Ug UolsF

Ques # :150

In an electrophoresis experiment for separation of protein , a decrease in migration was observed . What
could be the reason ?

1) Increased molecular size

2) Increased ionic strength

3) Increased current

4) Both Increased molecular size and increased ionic strength

UF A HOT HeIeleT & HIEIT IHelaT Flat T TANT 7 rfrereter 7 F#t ST 715 | $HHT FI1 FROT Y
THATE ?

D) 3nfoae 3mama 7 9fy

2) 3T Seerar 7 3fE

3 grT A IR

4) 3nfoaes AT 7 Y Td 3T Seerar # g et
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